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ACCOUNTANCY

Full Marks : 100

Pass Marks : 30
Time : Three hours

The figures in the margin indicate fulZ marks
for the questions.

Q. No. 1 carries 1 mark each

1 (a) 1xd = 4

1 (b) 1x2 = 2

1 (c) 1%x2 = "2

Q. Nos. 2-6 carry 2 marks eacl , 2x5 = 10
(. Nos. 7-11 carry 3 marks each 3x5 = 15
Q. Nos. 12-18 carry 5 marks caclt 5x7 .= 33
(. Nos. 19-22 carry 8 marks each 8x4 = 32
\ Total =100

R ———

Contd.

A ——



ttp;//www.elearninginfo.in

Lo ) Fill in the blanks with appropriate vrord [ vrords © (any four)

Gty wp wtal gt Ao o o (o1 cetl vial)

(1) Income and Expenditure Account is prepared on basis,
]
wim-a (oo (ufars Ay aa1 7
(i) Liability of a partner is _________ ]
g M o Al
(iii)  Annual Report is issued by a company toits ]

Ga5ls @l 2@ “fsam 7 4l #wia |

(fv) Liquid ratio is the relationship between _ and current
liabilities, 1
G WAG e bl i At e e

(v)  Equity sharcholders are ____ of a company, !

Wl Ad qiaaal g4l e

(b). Choose the correct alternative ;

.,p..‘-r_.fa awine Wi o
4 gealh {.'1,,9‘ '|I(.‘a 4

(i)  When a new partner is admitted — 1

s
'Y

G GG g e miace wff @) v

(m)  Consent of all the partners is required,
W A eafoa o v

(h)  Consent of majority of the partners is required,
oy, neag wliicag safva womem o

(c)  Consent of any one partner is required,

G GG sl weaican Al sa acuige v |
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(1) Balance of shares forfeited account after re-issue is transferred
l to — 1

oe [ win e sieie e Sge gmm i @ —
(1) Reserve Fund
Ao Afere
(b) - Profit and Loss Account
(c) Capital Reserve
Tl offee
(c)  State whether the following statements are “True” or “False” : (any two)
feate Sfesf “wa” @1 “wva” @l e (@@ 55)

() Outstanding subscription is an asset. 1
AW B! ZE G AAS |
(if) A Preference Shareholder gets interest at a fixed rate. 1

T QYifEFRYe SR @3 ARe @ W e

(iii) Company’s shares .are generally transferable. 1
(AR SHATRZ AR IZ T |
(iv) Life membership fee is a capital receipt. 1

G ) TE T I JeAL] o |

2. Mention two features of a not-for-profit organisation.

@ife Al @el AR 76 @ Sy @

o

o

3. What is Profit and Loss Appropriation Account ?
AlS-EARAR Totarea | § ¢ |

9

4. What is the meaning of Cash Flow from Financing Activities ?

fa@m e (A AE 75w 9 dQnza e 2
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10.

\J

Mention any two features of

a debenture. 2
W@ @ @ B Y S |
Mention any two rights of a partner. o 2
TSR SRR @ @ 75 o S |

A and B are partners sharing profits and losses in the ratio 3:2. C is
admitted into the partnership. A surrendered Y rd of his share and B

surrendered ), th of his share in favour of C. Determine the new profit
sharing ratio. : 3

A R B 58 MR R O 312 SIS FS @R 15 @1 C @
T A A Fent A A oR See V5 @R B O SRR I, R4 C
(5 2AoJA R | Tl T IBeR it Tl 0 | .

OR/ 923t

Write three distinctions between Fixed Capital Account and Fluctuating
Capital Account.

T iR 9 o T fiea B Ak @

Explain tlhree uses of financial statement. ; 3
Mention any three. objectives of preparing Comparative Statement. 3
T SR SESE (3 (R O S Srm <

' OR/ G4t

A company’s stock is Rs. 2,00,000. Total liquid assets are Rs, 8,00,000 and
quick ratio is 2: 1. Calculate current ratio.

G35 AT Tgred A 2,00,000 BRI GG wwE Feifen o
8,00,000 Bl 3R I TGS A 2:1 | BfeTe Seire fefy wa

Explain the following terms : ) : :
fcare Az il a2
(i) Capital Fund

AT 4fa
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(i) Life Membership Fee
WSA He) T
(i1i) Entrance Fee
| v OR/ w4l
Write three features of Fund'Bas_ed Accounting.
Afefefes ot a7 iy @)
| OR/ @i%at

Calculate the amount of stationery consumed to be shown in the Income
and Expenditure A/c for the year ended 31st December, 2020 —

31 forme 2020 SiF FEe S @ SwEEe) SRR AR
GGk A — Gk
01-01-2020 31-12-2020

Creditors for stationery 4,000 6,200
Stock of stationery 5,400‘ - 5,000

During the year 2020 payment made for stationery was 40,000.

2020-4 K TEEEE G 40,000 G ANy T 20 |

Write three differences between Realisation Account and Revaluation

o]

Account. , 0

Temaeac TR ek ?ﬁwﬂwﬁﬂm T oG Al @A |
OR/ ©ql

Write any three uses of Cash Flow Statement.

A5 eaice St (@ @I oAl TREa @At

32T ACOU (BENG) [5] Contd.
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12 Prepare Income and Expenditure Account from the following Receipts
and Payments Account and other details of Surya Club for the year ended
31st December, 2019 - 5
31 Rvia, 2019 wifitd e ay ol @i Ficaie @t «m5 i @
S ReRe s wm-am G dws @@ 2
Receipts and Payments Account
Dr. (Tl 45 f2119) Cr.
Receipt (&) (%) | Payments (75) €
To Balance b/d : By Salaries 12,000
(ARf3 T Tge) (o)
Cash-in-hand 10,000 | By Honorarium 3,000
([ =) (i)
To Subscriptions By Travelling Expenses 2,000
(5m) (= <)
2018 — 900 By = Telephone Charges 5,000
2019 — 19,000 (COFi=ritTa <=5 )
2020 — 1,000 :
20,900 :
To Sale of newspaper 100 | By Investment 10,000
(AT fafwr) (Rfcarst)
To Life Membership Fee 5,000 | By Construction of Building | 7,000
(TG Ae) A7) (S5 fsfier)
To Donation (4i9) 6,000 | By Rent (Srg) 2,000
To Donation for Building 8,000 | By Postage (®iF) 11,000
(4 41a% W) By Balance c/d:
To Interest (1) 200 (e Tge)
To Méintenancc Grant 2,000 Cash-in-hand (35w &) | 11,200
(ATasrEal Swi)
To Gale of Furniture 1,000
(e fafa) 53,200 53’200

32T ACOU (BENG)
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Other details (SWIA7 [3939)
(1) Outstanding Salaries = 21,000
TR (@93 —1,000 DIt
(ii) Subscription outstanding — 22,000
SR B — 2,000 B
(i) Subscription for 2019 received in 2018 — %200

2019 I bMI 2018 (e ~Atent fcale — 200 GRA
OR/ 51241

Write five distinctions between Receipts and Payments Account and

-

Income and Expenditure Account. S b

Tl <R B R SR i g Sl sief et

13. Explain the method of calculating “Cash flows from Operating Activities”

~under direct method. 5
AT wﬁmwﬁawq cmaﬂwmﬁcfaw AmfSi’
FAl |

OR/ WQHT

Calculate cash from operating ‘activities from the following information :

frmre o9 cwwﬁawmwwquﬁcﬁw
2019 (3) 2020 (3)

Profit and Loss A/c. (m—@mm ﬁma) . 60,000 65,000
Debtors ((W49iA) . 87,000 50,000
Bills Receivable (4= @) . 62,000 1,03,000
General Reserve (Fi4R@9 ‘-"‘Iﬁ?) . 2,02,000 2,37,000
Salary Outstanding (S @) ~ 30,000 12,000
Wages Prepaid (O ave wvﬁﬁ) 5,000 7,000
Goodwill (F41%) ‘ 80,000 70,000
Cash and Bank Balance (79[ 938 JitFd ©7%) 40,000 30,000

32T ACOU (BENG) (7] ' Contd.
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14 What is Ratio Analysis ? Mention any three limitations of ratio analysis,
’ ‘ | 2+3=5

SAS [t B 2 Swpsire Rsaem @ < oAl Aeme! SrEe FE

OR/ g2a!

Briefly explain the meaning and significance of any two of the following
ratios — \ 2!/ox2=5

TR e e @ 7ox el R g RERCA 39 SR —
(i)  Debt-Equity Ratio
el I TS
(ii) Gross Profit Ratio
(G =TS Tgire
(ii1)  Quick Ratio
e wmeiie
(iv)v Stock Turnover Ratio
TGS ) ST SHATS
OR/ <4

Cost~ of Goods Sold — ¥ 3,00,000
fafe w1 AT TTE

Stock Turnover Ratio — 6 times
TGO AN ARG TS — 6 I

Find out the value of Opening Stock, if Opening Stock is 210,000 less than
the Closing Stock. : 5

i ARG TGS Af AL TGS =4 (A 10,000 TR 79 27, wpzre a@fos
TGS St o [ w -

32T ACOU (BENG) ~ [8]
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15, From the following Income Statement, prepare Common Size Income

Statement and give your comments : 5

Froe wm ofermf (U Furd s wiem afsmm 2w @) €32

Particulars

()

2018 (%)

2019 (%) Par’giculars

(FRae)

2018 (3)

2019 (3)

To Cost of
Goods Sold

(R =1 7w

To Gross
Profit ¢/d

95,000

25,000

By Net Sales

1,05000 | (= RiF)

40,000

(3G =7re)

1,20,000

1,45,000

To Office

Expenses

(FEFTER <a5)
To Distribution
Expenses
(Freznem «=m)
To Net

Profit ¢/d
(ZFe @ire)

2,000

3,000

20,000

By Gross
Profit b/d

(I =)

8,000

5,000

27,000

25,000

40,000

1,20,000

1,45,000

1,20,000

1,45,000

25,000

40,000

25,000

40,000

OR/ T4l

Give the new format of the Balance Sheet of a company (main headings
only) as per the requirements of the revised Schedule-VI of the Companies

Act.

AR wiEEE ARTAIRS SIFE VI S O3 (ARE Y PR e
e’ (@@ 91 MERTTR) 2T I -

32T ACOU (BENG)
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OR / @24y

Give five points of distinctions between under-subscription and over-
subscription.

TN W WS e wids T ufen s e Pl GEle |

16. i\:,B and C were in partnership sharing profits and losses in the ratio of
211, On 1st January, 2020, B retired from the firm. On that date their
Balance Sheet was as follows : 2+3=5
A, B OR C 3:2:1 SoAI(s &S (FIAH 95 B SIgmial A9 a1z
1 ST 2020 ©Ift B @ifedin (0 SR 247 9 | 12 Sifard Siva ©56
A% Rewe w@m o 0 |

Balance Sheet (¥5@ 7@)
Liabilities (/) . @) Assets (F7IfS) ®)
Creditors 27180 | Cash (7517 =id) 9,400
AleHmIR | '
( ) Debtors ((7EmIR) - . 16,000
Capitals : - ' :
() a Stock (Sere #A¢fy) 23380
A 30,000 Building (S3+) 46,000
B 20,000 '
.C 20,000 Profit and Loss A/c 2,400
70,000
(S-S f23719)
97,180 v 97,180

The terms of the retirement were :

TEAEA SR e ¢ _

(i)  Building is to be appreciated by 2 14,000
GAE o 14,000 G I A ZA |

(ii) Provision for doubtful debts is to be made at 5% on the debtors.

A SAE 5% ArwEeR 4 e o 1 71

\

(iii) The goodwill of the firm is to be valued at 2 36,0b0.‘
oY@ AT TEUEA 36,000 DR Tl 7 |

" 32T ACOU (BENG) [10]
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(i) No cash s to hepadd to 18 immediately and balance of his capital
account s 1o betransteried to e Toan aceotint,

R L B A e W T [ TR 2 e UL A B T W U T
T wala A (6911671 gl s |
Prepare Revaluation Account and Partnors' Capital Account,
"J'I;I“'lll'il'l R EROE BT TR el (enla has Al
OR / wrelaf
Write the uses of securitics premiam amount,
dfwgfs wlneicaa wesla aganta o
17,1, Q and 18 waere in partnership sharing, profits and losses in the ratio of
A 300, On 3at March, 2020 their Balance Sheet wais as follows 5
P, Q W 1 A3 el wiy il fnadai aaft afeniem weiva
faon | 31 W16, 2020 wifde Wi Sya «alb fure waca f s

Ii.tl.mu' '*vllml ( 594G 714)

A e s e PP — Wt ey Fi B ot At 47 o b

Liabilities (¢4 u) | (v)  Asiets ( lwsm (2)
Creditors (1 4eatul) w7000 | Fixe " Ansety ('dl?” rAf5) 2,90,000
Reserve (lves #ffo) 13,000 | Stock and Debtors 45,000
Capital Accounts (M08 A4 AT eIl #19H)

(e fe211) Cash (19) 15,000

' 1L05,000
Q85,000

I Ho000 |
it et B 70000

3,90, (NN) 3,90,000

P .

Qi ey w2 S S o b g

'Q" dicd on 30.6.2020. Under the partnership agreement the executors of a
deceased partner were entitled o

30.6,2020 wifaed Qg1 g plasins g uEivcaa afsfifaar «ia
() Amount standing to the credit of deceased partner's capital account,

o esliean sern foncan oafes i e )

A2 ACOU (BENCYH [11] Conkd.
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18.

() Interest on capital @ 129 p.a.
AT 12% Q& AT Sl 9w |

(¢)  His share of goodwill. The goodwill of the firm on Q's death was

valued at 2 2,70,000.

O TR B | Q 99 Joyrs AfSHmiba FicTa sEnrE 2,70,000 e 7@
Bl

(d)  Share of profit from the closing of the last financial year to the date
of death on the basis of last year's profits,

fore T =cen fofrs Rete awmm o (s Sjor @i #1@ =icea
B |

The profit of the firm for the year ended 31.3.2020 was 32,40,000.
31.03.2020 (o Feww Afeviia @res «ifwe & 2,40,000 B |

Prepare Q's capital account on the date of his déath.
| Q-9F YYi SIffty O Yo 2 eiwe avd |
OR/ @<y

Distinguish between Profit and Loss account and Profit and Loss
Appropriation account,

| 5
AMS CERPIR AR R @ @R Sorares @i sy )

el omie |
What is Realisation Account ? Write three cases where a p.ulnorship firm
may be dissolved by a court. A
R BAE e ol e wE e DN S vy
feali vz Grae aat | b

32T ACOU (BENG) [12] ' d
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OR/ @y

Amal and Bimal are fico partners ina fiem, They share profits as 3.2,
Following is their Balance Sheet as on 3st March, 2021 on which date the
firm is dissolved

WA 0 [ qald sifebma e @Al 302 eEeny At adge wea )
A1 A0, 20219 ik Bya Aald it ware, afder Afssba semme 27 2

Balance Sheet (C5a 2(7)

Liabilities (G () Assets (31Ifa) (7)
Creditors (SR 20,000 | Fixed Assets (20 7fq) 30,000
Reserve (%@ «fe) 5000 [ Stock (315 #{y) 10,000
Capitals : (J514R) Debtors ((4#iMla) 15,000
Amal 20,000

ml Cash (3194) 3,000
(WSH)

dpenfit o
Bimal 15,000 Frofee Lom e 000
(Fr=) e 35,000 | (FIS-GEARIR f22i)
60,000 60,000

Fixed Assets are realised at 2 28,000. Stock at 2 8,000 and Debtors at
2 13,000 Expenses on realisation are 2 1,500. Creditors are paid at a

discount of 10%.

=1l wiifasfen fifa ata 28,000 Grel sitenl (o1 | See #iels (2w 8,000 Breet @ag
CRAMITA (oI 13,000 Biwt #H1G31 ol | sfanptirepaceta <deesa =i 1,500 Bt |
ANGHMEA 10% (2209 ARy gl e |

Prepare Realisation Account, Partners' Capital Account and Cash Account.
2+2+1=5

s

et foim, welvicaa e i wag o e ogs w@ |

32T ACOU (BENG) [13] : Contl.
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19, Pradeep and Pranab are partners in a firm. The Trial Balance of the firm
as on 3lst March, 2020 was as under : ;
SR R 2 G VI Sl | 31 916 2020-¢8 afebifda TS FEre
Rive w@ &)

Trial Balance (58 fiem 2i)
Debit 2) Credit ()
Machinery ‘ Capital : (F14)
e (R 54000 | =g deep  — 50,000

Goodwill (3391%) 10,000 (&)

Patent ((2(5°5) 20,000 Pranab ~ — 40,000 | oo
Sundry Debtors - 21,000 (29) ’
(ﬁﬁﬁ omE) Sundry Creditors 5,000
Cash in hand (9% &) 1,000 | (R ohemmr)

Closing Stock 25000 | Interest on Investment 400
(e g #iay) (RfRcaeE Tei 7w )

Investment (ffazane) 10,000 e |
Depreciation on Machinery 6,000 Sundry Receipts (ﬁﬁq ﬁif@) 200
(TFAINGT T o) Bills Payable (27 f3#) 2,000
Rent (¥181) 10,000 Bank Overdraft 10,000'
Carriage Outward 1,000 @% CSHERTD)

( ) Outstanding Wages 500

g Yvag
Taxes (F9) 500 (207 TGR)
Telephone charges 3,600 _
Trading Account:

((‘i; %((FRU@ 7@5) g b f

Commission () 800 E;TN'[ iZJP.l fma) : |
Drawings (S1Z4) ¢ £0s8/ LroRC (Gl Slro) 71,000
Pradeep (4#17l) 5,000 Discount ((G) . 900
Pranab (&43) 4,000 9,000

Salaries () 8,000

Bank Charges (JCF 446 ) 100

1,80,000 1,80,000

32T ACOU (BENG) [14]
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Prepare Profit and Loss Account, Profit and Loss Appropriation Account
and the Balance Sheet of the firm for the year ended 31st March, 2020, after
considering the following information '

Rrste oupme REsal $@ 31 516, 2020-9 RTAE @S- 17, #re-
IR TATIEA (DI GR TG AT aFS ! |

() Write off 2 1,000 as Bad Debt and provide a 5% Provision on Sundry
Debtors for Doubtful Debts.

1,000 BRFl SmRTE ¥ AR @ 7@ @R Ry (i e 5%
AZEAS WS 917 FICS TR |

(ii) Interest on Investment Accrued 2 600.

fIfRcae @ diel 3w 600 BRA |

(iti) Interest on Partners' capital is allowed @ 5% p.a.
SRR o TAR AR 5% QA ?11? €S T |

(iv) Create a General Reserve by taking % 5,000 out of profit.
S (A 5,000 S a6 Ak ffE olon F0e 2 |

20. (1) Write two differences between Authorised Capital and Issued Capital

of a company. 2
q@B @A SEite Je O Riege Yo we 16 w14 @l
(b))  What is Minimum Subscription ? 2

TSN FEHTS AW F 2

(¢)  What is Reserve Capital ? 2
AES A F 2
(d) What is Call-in-Arrear ? 2

@ TFA WA F 2

32T ACOU (BENG) [15] ; Contd.
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OR / @pelar

Arnab Company Lid. issued 10,000 equity shares of Z 100 cach at a
8

premium of 1() % payable as under :
30 on Applicalion
% 60 on Allotment (including premium)
2 20 on call

Kamalesh holding 400 shares failed to pay the allotment and call

money and Monalisha holding 700 shares failed to pay the call
money.

Show the entries in the Cash book and Journal of the company for

the above transactions.

ol @A ffcse 2fefs 100 St e 10,000 f6 Sieieig 10% g
ffe 7@ b fowre @ e s @ s

30 BIF SEMETE T
60 Bit (Tifgzia-12) SI6Ea AT
20 Bl OFEd A

400 6 TIRH2TaR 4 T SRS YR SEEd O o fice oiEf @@
700 5 Seoitam aFs IR eeEa o o facs oiaf |

GG EmASER G mwnﬁﬁaa?c—aﬁwa?aaaﬁﬁavwﬁ
e |

Give Journal entries for issue and redemption of Debentures in respect of

the following : N
firmre wazislm o aderaa faia gag Al airam «6f% qe

Debentures issued at a discount and redeemable at premium.

st Al fafemaad @k ez sl

32T ACOU (BENG) [16]
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() Debentures issued at premium and redeemable at premium.
IR wifzis RfEmse aa et s
(c)‘ Debentures issued at par and redeémable at par.
ATE T f[feresd @R ey Al |
(d) Debentures issued at premium and redeemable at par.
Wit iR Rifemae @) ey sy
OR/ &t
What are the differences b'etween a shareholder and a debentﬁreholder ?
GFTH TRAAGYTE R GG Aelof@ (R Ty AL F R o
OR/ 514!

"Explain different methods of redemption of debentures.

Aea Al [in smmfosf st a@t |

22. Ram and Mohan are partners sharing profits and losses equally. Their
Balance Sheet on 1st April, 2021 was follows : 8

A GR Gl TSI 571 R (FIFAN 04 41 SRAWE | 1 @iz 2021-9 S
Tge Al frsre @ e o

Balance Sheet (T%@ 21q)

Liabilities ((7911) () Assets (FIf@) ()
Sundry Creditors , 15,000 | Cash (s5i) , 5,000
(fef ~fiear) Debtors (Glwta) 16,000
Capital (F[A49) ‘ %o :

exitia: Stock () 12,000
Ram : 40,000 '
(=) Machinery (3%7i(fS) 22,000
Mohan : 30,000 Building (%) 30,000
(GI1z) g 70,000 | -
85,000 e 85,000

32T ACOU (BENG) ' : [17] v ‘ Contd.
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They decided to admit Sanjoy into partnership for 1/3rd share on the

following, terms :

SRl 1/3 SRR T A RS *r’w{m fofers o *‘ﬁvﬂ A TS
T Prarg @ e |
(i)  Machinery and Buildings were revalued at ¥ 20,000 and 42,000

respectively. |
T T TS ) SR T A 20, 000 Brst @R 42,000 B
4l 0 2 |

(i) Creditors were reduced by 2 2,000..

siieamiama 2,000 B 21 1 =L

(iii) Provision for doubtful debts on debtors is to be created at ¥ 1,000,

WA T 1,000‘1?@3121 ArwEEE dafe 1w A A |

(iv) Sanjoy is to blmg in 2 40,000 as his capital and 2 24,000 as premium

for goodwill.

FHET@ 40,000 B A @R 24,000 Bt i fafsrs A s Ta |

Pass Journal entries for the above information and prepare Balance Sheet

of the firm after the admlsslon of Sanjoy.
BoANG AP T Gl aﬁmme nﬂa\ﬂ@mmﬁz o efoHim T
oo AFS Il _

OR / @4t

(O>]

(i) -~ Write any three limitations of partnership business.

eI AR (@ (] [EA TR (e

39T ACOU (BENG) [18]
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(i) Explain five factors affecting the goodwill of a firm. 5
AR s s 510 T S I |
OR/ g2t

Distinguish between dissolution of Partnership and dissolution of
Partnership firm. 8

M SR &R ST TR SARGR W4 AL GRS |

- 32T ACOU (BENG) [19]



